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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is 
most important. 

 8. Question Serial No. 1 to 74 are printed both in English and in Official Language 
(Malayalam). Doubts regarding the meaning and translation of Question Serial  
No. 1 to 74 will be settled based on the Questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 

 INSTRUCTIONS TO CANDIDATES 

Question Booklet 
Alpha Code 

Question Booklet 
Serial Number A 

 Total Number of questions : 100 Time : 1 hour 30 Minutes 

           Maximum Marks : 100 
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1. Match List-I with List-II and select the correct answer from the codes given below: 

 List I   List II 

 (a) The spirit of the laws (i) Voltaire 

 (b) Candide (ii) Jean Jacques Rousseau 

 (c) Encyclopaedia (iii) Rene Descartes 

 (d) The social contract (iv) Denis Diderot 

 (e) Meditations on first philosophy (v) Malthus 

 (f) An essay on the principles of population (vi) Montesquieu 

   (a) (b) (c) (d) (e) (f) 

(A) (vi) (iv) (v) (ii) (iii) (i) 

(B) (vi) (i) (iii) (ii) (iv) (v) 

(C) (vi) (i) (iv) (ii) (iii) (v)  

(D) (ii) (i) (iv) (vi) (iii) (v) 

2. Arrange the following events in chronological order and select the correct answer from 

the codes given below: 

(a) Native Americans protested against the British Parliament’s tax on tea at Boston 

Harbour by throwing 342 chests of tea into the sea 

(b) The Toleration Act granted religious freedom to all religious groups, including 

Protestants in England 

(c) The Declaration of the Rights of Man and the Citizen was prepared based on a 

variety of Enlightenment ideas and the political philosophy of John Locke and 

Montesquieu 

(d) The National Assembly formed by the third estate and some sympathetic clergy 

held their meeting in an indoor tennis court and vowed to stay together to write a 

constitution 

(A)  (b), (a), (d), (c) 

(B)  (b), (a), (c), (d) 

(C)  (a), (b), (d), (c) 

(D)  (d), (b), (c), (a) 
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1. ĉĒsĝ-I ėĀ ĉĒsĝ-II ĆĔąđĆĒ ĘĆđôĒpĒcĝ üđėċ ėíđ÷ĔtĒćĒkĔn ĘíđùĒŔ 
ĀĒnĝ čćĒĆđĆ utćÝ üĒćėŧ÷ĔkĔí : 

 ĉĒsĝ I   ĉĒsĝ II 

 (a)  ĀĒĆąšĊƧė÷ àtđŌ   (i) ĘČđŕŨĆœ 

 (b)  íđŒęùĹ     (ii)  ôēŒ ôđkŏ ĈĕĘďđ 

 (c)  eŒęďĘkđāēùĒĆ   (iii) ėĈėĀ ėùŏíđœŨŏ 

 (d)  ďđąĕĐĒí íćđœ    (iv) ėùĀĒŏ ùĒėùĘĈđŨĝ 
 (e)  àþŖ ütřòĒnėĆkĔĈĒcƧll  (v) ąđŔtŏ 

   ÿŖđĀšŕ 

 (f) ôĀďÝîŖđ üüřšėĊkĔĈĒcƧll  (vi)  ĘąđėŪŏíŖĕ 

oćĔ uāĀŖđďÝ 

   (a) (b) (c) (d) (e) (f) 

(A) (vi) (iv) (v) (ii) (iii) (i) 

(B) (vi) (i) (iii) (ii) (iv) (v) 

(C) (vi) (i) (iv) (ii) (iii) (v)  

(D) (ii) (i) (iv) (vi) (iii) (v) 

2. üđėċpĈĆĔn ďÝĄČšŕ íđĉŗíątĒŔ ŗíąēíćĒcĝ üđėċ ĀŔíĒĆĒćĒkĔn 
ĘíđùĔíĊĒŔ ĀĒnĝ čćĒĆđĆ utćÝ üĒćėŧ÷ĔkĔí : 

 (a)   Ęăđső ĐđœăĈĒŔ ŗăĒŨēŎ āđœĉėąŀ ň ĘüđĆĒĉņkĝ òĔątĒĆ 
ĀĒíĔüĒėküĒėć üĘdčēĆćđĆ aĘąćĒkkđœ 342 ėāŨĒ ĘüđĆĒĉ 
í÷ĉĒĘĉkĝ eĈĒŧĔėíđŪĝ ŗāüĒĘĎÿĒcƧ. 

 (b)  iÝgŪĒėĉ ėŗāđŨsnƧíđœ uŕėpė÷ eĉīđ ąüČĒĄđïšŕkĔÝ 
ďĐĒŎûĔü ĀĒĆąÝ ąüďřđüŗnŖÝ ĀŔíĒ. 

 (c)   Ęôđő ĘĉđkĒėnĆĔÝ ĘąđėŪŏíŖĕČĒėnĆĔÝ ČĒČĒÿ jđĘĀđþĆ 
àčĆšėĊĆĔÝ ćđŗƈēĆ ütřòĒnėĆĆĔÝ a÷ĒsđĀąđkĒĆđĻ 
ąĀĔĎŖėnĆĔÝ āĞćėnĆĔÝ aČíđč ŗāîŖđāĀÝ üyđĈđkĒĆļ. 

 (d)  ĘüœĹ eĘsƃƧÝ òĒĉ aĀĔímĆĔll āĔĘćđĐĒünđćĔÝ Ęòœnĝ 
ćĕāēíćĒc ĘþčēĆ aďÝbĒ oćĔ iŒĘùđœ ė÷nēŏ ĘíđœŨĒŔ ĘĆđïÝ 
ĘòœnĔ, oćĔ Ąćûð÷Ā eċĔüđŒ oćĔąĒcĝ ĀĒŔkĔėąnĝ 
ŗāüĒjėĆ÷ĔtĔ. 

(A)  (b), (a), (d), (c) 

(B)  (b), (a), (c), (d) 

(C)  (a), (b), (d), (c) 

(D)  (d), (b), (c), (a) 
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3. Consider the following statements about the revolt of  1857. Which of them is correct? 

(i) The young sepoy Mangal Pande of the 34th Bengal Native Infantry has fired at his 
superior officer and was executed 

(ii) Bahadur Shah fought against the British till his death to defend Delhi 

(iii) General Hugh Rose defeated Rani Lakshmibhai of Jhansi and paid high tribute to 
her by saying that ‘here lay the woman who was the only man among the rebels’ 

(iv) The revolt of 1857 affected the entire British India, including South India 

(A)  Only (i) and (ii) 

(B) Only (i) and (iii) 

(C)  Only (ii) and (iii) 

(D) Only (i) and (iv) 

4. Given below are two statements, one is labelled as Assertion [A] and the other is labelled 
as Reason [R]. 

 Assertion [A] : On 6 April 1930, Gandhiji defined the salt laws at Dandi. 

 Reason [R]  : The Dandi march of Gandhiji was a result of the Gandhi-Irwin Pact. 

 In the context of the above two statements, which one of the following is correct? 

(A)  Both [A] and [R] are true, and [R] is the correct explanation of [A] 

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A] 

(C)  [A] is true, but [R] is false 

(D) [A] is false, but [R] is true 

5. Match List-I with List-II and select the correct answer from the codes given below. 

  List I  List II 

 (a) Criticised Congress Party with the  (i) Premchand 

  Safety Valve theory in 1916  

 (b) Swadesh Bandhab Samithi (ii) Lala Lajpat Rai 

 (c) Karmabhoomi (iii) Bankim Chandra Chatterjee 

 (d) Devi Chaudhurani (iv) Dadabhai Naoroji 

 (e) Poverty and Un-British Rule in India (v) Ashwini Kumar Dutt 
   (a) (b) (c) (d) (e)  

(A) (v) (i) (iv) (iii)  (ii)  

(B) (iv) (i) (iii) (ii) (v)  

(C) (ii) (v) (iii) (i) (iv)   

(D) (ii) (v) (i) (iii) (iv)  
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3. 1857-ėĉ íĉđāėtkĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíŕ āćĒïûĒkĔí. 
aČĆĒŔ èüđĻ čćĒ? 
(i)  34-Ląļ ăÝïđŕ ĘĀƃēŌ iŒĂđŒŗ÷ĒĆĒėĉ ĆĔČ čĒāđĆĒ ąÝïŕ 

āđėū üėn ĘąĉĔĘþŖđïsėĀ ėČ÷ĒČcƧ ėíđnĔ 
(ii)  ùŔĐĒėĆ ŗāüĒĘćđÿĒkđŒ ăĐþĕœ Ďđ ąćûÝ Čėć ŗăĒŨēĎĔíđœ 

ėküĒėć Ęāđćđ÷Ē 
(iii) ôĀĈŔ ĐŖĕ ĘĈđŏ ôđŒďĒĆĒėĉ ĈđûĒ ĉkĝąĒĄđĆĒėĆ 

āćđôĆėp÷ĔtĒ, 'iüđ íĉđāíđćĒíĊĒŔ èí āĔćĔĎĀđĆĒćĔn ŏŗüē 
iüđ íĒ÷kĔnĔ' enĝ āĈŧĔėíđŪĝ aČœkĝ àþćđĶôĉĒ 
aœpĒcƧ. 

(iv) 1857-ėĉ íĉđāÝ þkĒĘûnŖ uŕėpė÷ ąĔċĔČŒ ŗăĒŨēŎ inŖėĆĆĔÝ 
ăđÿĒcƧ 

(A) (i), (ii) ąđŗüÝ (B) (i), (iii) ąđŗüÝ 
(C)  (ii), (iii) ąđŗüÝ (D) (i), (iv) ąđŗüÝ 

4. üđėċ ĀŔíĒĆĒćĒkĔn ćŪĝ ŗāŏüđČĀíŕ, onĝ ČđþÝ [A] enĔÝ ąėƃđnĝ 
íđćûÝ [R] enĔÝ ĘĉăŔ ėòņüĒćĒkĔnĔ : 
ČđþÝ [A]   : 1930 èŗāĒŔ 6-ŀ ïđnĒôĒ þūĒĆĒėĉ upĝ ĀĒĆąšŕ   
    ĀĒœČòĒcƧ. 
íđćûÝ [R]  : ïđnĒôĒĆĔė÷ þūĒ Ćđŗü ïđnĒ-iœČĒŒ u÷m÷ĒĆĔė÷  
      ĂĉąđĆĒćĔnĔ 

 ąĔíĊĒŔ āĈŧ ćŪĝ ŗāŏüđČĀíĊƧė÷ āƆđtĉtĒŔ, üđėċpĈĆĔ 
 nČĆĒŔ èüđĻ čćĒ? 

(A) [A] uÝ [R] uÝ čćĒĆĔÝ [R], [A] ĆĔė÷ čćĒĆđĆ ČĒčþēíćûČĔąđĻ 

(B) [A] uÝ [R] uÝ čćĒĆđĻ, enđŔ [R], [A] ĆĔė÷ čćĒĆđĆ 
ČĒčþēíćûąĉī 

(C)  [A] čćĒĆđĻ, enđŔ [R] ėüƃđĻ 

(D) [A] ėüƃđĻ, enđŔ [R] čćĒĆđĻ 

5. ĉĒsĝ-I-ėĀ ĉĒsĝ-II-ąđĆĒ ėāđćĔtėp÷ĔtĒ üđėċ ĀŔíĒĆĒćĒkĔn 
ĘíđùĔíĊĒŔ ĀĒnĝ čćĒĆđĆ utćÝ üĒćėŧ÷ĔkĔí : 

   ĉĒsĝ I    ĉĒsĝ II 

(a) 1916-Ŕ ďĔćkđ ČđŔŌ ďĒdđnÝ   (i) ĘŗāÝònĝ 
 Ęíđőŗïŏ āđœŨĒėĆ ČĒąœčĒcƧ  

 (b) ďřĘþō ănŃ ďąĒüĒ (ii) ĉđĉđ ĉĴāļ Ĉđņ 
 (c) íœmĄĕąĒ (iii) ăŠĒÝ òŗn òđƃœôĒ 
 (d) ĘþČĒ òĞÿĔćđĀĒ (iv) þđþđĄđņ ĀČĘĈđôĒ 
 (e) inŖĆĒėĉ þđćĒŗþŖČĔÝ (v) ačřĒĀĒ íĔąđœ þtĝ 
  aő-ŗăĒŨēŎ ĄćûČĔÝ  
   (a) (b) (c) (d) (e)  

(A) (v) (i) (iv) (iii) (ii)  
(B) (iv) (i) (iii) (ii) (v)  
(C) (ii) (v) (iii) (i) (iv)   

  (D) (ii) (v) (i) (iii) (iv)  
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6. Which of the following statements about the coming of Europeans to Kerala is correct? 

(i) The French were the first Europeans to arrive at the Malabar coast and made their 

settlement at Mahe. 

(ii) Hortus Malabaricus is a twelve-volume encyclopaedia of over 740 plants in Kerala 

compiled by the Dutch and published at Amsterdam. 

(iii) Vasco da Gama sailed from Lisbon with three ships and reached Calicut in 1498. 

(iv) Cartaz was a ship built by the Portuguese to fight against the kings of Malabar. 

(A)  Only (i) and (ii) 

(B) Only (ii) and (iii) 

(C)  Only (iii) and (iv) 

(D) All the above 

7. Match List-I with List-II and select the correct answer from the codes given below: 

  List I  List II 

 (a) Valiya Kappithan of Travancore army (i) Raja Kesava Das 

 (b) Sarvadhikaryakkar (ii) Francisco Almeida 

 (c) Unnuneelisandesam narrates the journey of (iii) Ali Adil Shah 

 (d) Tuhfat ul Mujahiddin is dedicated to (iv) Eustachius De Lannoy 

 (e) First Viceroy of Portugal in the East (v) Aditya Varman 

   (a) (b) (c) (d) (e)  

(A) (iv) (i) (v) (iii) (ii)  

(B) (v) (i) (iii) (ii) (iv)  

(C) (iv) (v) (iii) (i) (ii)   

  (D) (ii) (i) (v) (iii) (iv)  
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6. ĘíćĊtĒĘĉkĔll ĆĕĘĈđāŖnđćĔė÷ ČćČĒėĀkĔĈĒcĝ üđėċpĈĆĔn 
ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(i) ąĉăđœ üēćtĝ etĒ ąđĐĒĆĒŔ sĒćüđąďąđkĒĆ àþŖėt 
ĆĕĘĈđāŖnđćđĻ ŗĂŦĔíđœ 

(ii)  ùcƧíđœ ďąđĐćĒcĝ àÝsœùđąĒŔ ŗāďĒdēíćĒc ĘíćĊtĒėĉ  

740-ĉÿĒíÝ ďďŖšĊƧė÷ āŗnŪĝ ČđĉŖšĊƧll oćĔ 
ČĒjđĀĘíđčąđĻ ĘĐđœtŏ ąĉăđĈĒkŏ 

(iii) ČđŏĘíđù ïđą ąĕnĝ ípĉĔíĊƧąđĆĒ ĉĒŏăûĒŔ ĀĒnĝ ípŔ íĆĈĒ 

1498-Ŕ ĘíđċĒĘkđķ etĒ 

(iv) ąĉăđĈĒėĉ ćđôđknđœėküĒėć Ęāđćđ÷đŒ ĘāđœcƧïēďĔíđœ 
ĀĒœmĒc oćĔ ípĉđĆĒćĔnĔ íđœtđŏ 

(A)  (i), (ii) ąđŗüÝ 

(B) (ii), (iii) ąđŗüÝ 

(C)  (iii), (iv) ąđŗüÝ 

(D) ĘąŔpĈŧČėĆĉīđÝ 

7. ĉĒsĝ-I-ėĀ ĉĒsĝ-II-ąđĆĒ ėāđćĔtėp÷ĔtĒ üđėċ ĀŔíĒĆĒćĒkĔn 
ĘíđùĔíĊĒŔ ĀĒnĝ čćĒĆđĆ utćÝ üĒćėŧ÷ĔkĔí : 

  ĉĒsĝ I   ĉĒsĝ II 

 (a) üĒćĔČĒüđÝíĕœ ęďĀŖtĒėĉ (i) ćđôđ ĘíčČ þđŏ 

  ČĉĒĆ ípĒtđŒ 

 (b) ďœČđÿĒíđćŖkđœ (ii) ŗĂđŒďĒŏĘíđ aŔĘąù 

 (c) uŬƧĀēĉĒďĘnčÝ Ćđŗü ČĒČćĒkĔnĔ (iii) aĉĒ àþĒŔ Ďđ   

 (d) üĔŐĂļ uŕ ąĔôđĐĒdēŒ (iv) ĆĕsđcĒĆŏ ùĒ ĉđĘĀđņ 
  ďąœpĒkĔnĔ 

 (e) íĒċkŒ ĘāđœcƧïĉĒėn (v) àþĒüŖ ČœmŒ  

àþŖ ęČĘŗďđĆĒ 

   (a) (b) (c) (d) (e)  

(A) (iv) (i) (v) (iii) (ii)  

(B) (v) (i) (iii) (ii) (iv)  

(C) (iv) (v) (iii) (i) (ii)   
  (D) (ii) (i) (v) (iii) (iv) 
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8. Which of the following straits separates Russia and North America? 

(A)  Palk Strait 

(B) Bering Strait 

(C)  Strait of Magellan 

(D) Strait of Hormuz 

9. Consider the following statements: 

(i) Gutenberg discontinuity is the border between the lower mantle and the outer core 

(ii) Mantle starts from Conrad discontinuity 

(iii) Repitti discontinuity is the transition zone between upper and lower mantle 

(iv) The Mohorovicic discontinuity lies between upper and lower crust 

Identify  the INCORRECT statements: 

(A)  (ii) and (iv) 

(B) (i) and (iv) 

(C)  (iii) and (iv) 

(D) (ii) and (iii) 

10. Which of the following latitudes are known as Horse latitudes? 

(A)  0 – 20 degrees North and South of equator 

(B) 25 – 30 degrees North and South of the equator 

(C)  45 – 60 degrees North and South of the equator 

(D) 75 – 90 degrees North and South of equator 
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8. ĈĎŖėĆĆĔÝ Č÷Ęk aĘąćĒkėĆĆĔÝ ĘČœüĒćĒkĔn í÷ĉĒ÷Ĕkĝ èüđĻ? 

(A) āđkĝ í÷ĉĒ÷Ĕkĝ 

(B) ėăĈĒÝį í÷ĉĒ÷Ĕkĝ 

(C)  ąïĉīŒ í÷ĉĒ÷Ĕkĝ 

(D) ĘĐđœąĔŏ í÷ĉĒ÷Ĕkĝ 

9. üđėċ āĈĆĔn ŗāŏüđČĀíŕ āćĒïûĒkĔí : 

(i)  ïĔŨŒăœį üĔ÷œcĆĒĉīđtļ enļ üđċėt ąđnĒĉĒĀĔÝ āĔĈÝ 

íđmĒĀĔÝ i÷ĆĒĉĔll aüĒœtĒĆđĻ 

(ii)  ĘíđőĈđĹ ĀĒœtĉđkĉĒŔ ĀĒnđĻ ąđnĒŔ àćÝĄĒkĔnļ 

(iii)  ėĈpĒƃĒ ĀĒœtĉđkŔ enļ ąĔíĊĒĉĔÝ üđėċĆĔąĔll 

ąđnĒĉĔíŕkĒ÷ĆĒĉĔll ďÝŗíąû ĘąîĉĆđĻ 

(iv) ėąđĐĘĈđČĒďĒĭ ĀĒœtĉđkŔ enļ ąĔíĊĒĉĔÝ üđėċĆĔąĔll 

āĔĈÝĘüđ÷ĒĀĔąĒ÷ĆĒĉđĻ sĒüĒ ėòyƧnļ 

ėüƃđĆ ŗāŏüđČĀíŕ üĒćĒcĈĒĆĔí : 

(A)  (ii), (iv) 

(B) (i), (iv) 

(C)  (iii), (iv) 

(D) (ii), (iii) 

10. üđėċ āĈĆĔn akđÝčšĊĒŔ èüđĻ íĔüĒć akđÝčšŕ 

enĈĒĆėp÷Ĕnļ? 

(A) ĄĕąÿŖĘćîņkĝ 0 – 20 ùĒŗïĒ Č÷kĔÝ ėükĔÝ  

(B) ĄĕąÿŖĘćîņkĝ 25 – 30 ùĒŗïĒ Č÷kĔÝ ėükĔÝ 

(C)  ĄĕąÿŖĘćîņkĝ 45 – 60 ùĒŗïĒ Č÷kĔÝ ėükĔÝ 

(D) ĄĕąÿŖĘćîņkĝ 75 – 90 ùĒŗïĒ Č÷kĔÝ ėükĔÝ  
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11. Match the mineral/energy resource in List 1 with its production region/mine in List 2 

  List 1                                                     List 2 

1.  Petroleum a. Koraput 

2.  Bauxite b. Hutti 

3.  Coal  c. Mumbai High 

4. Gold  d. Jharia 

(A)  1-c, 2-a, 3-d, 4-b 

(B) 1-c, 2-d, 3-b, 4-a 

(C)  1-d, 2-a, 3-c, 4-b 

(D) 1-c, 2-d, 3-a, 4-b 

12. Which city among the following are NOT connected by the Golden Quadrilateral 

highway project? 

(A)  Delhi 

(B) Mumbai 

(C)  Hyderabad 

(D) Chennai 

13. Which of the following agricultural research institutes under ICAR is INCORRECTLY 

paired 

(A)  Central Plantation Crops Research Institute  – Kasaragod 

(B) Central Tuber Crops Research  Institute  – Thiruvananthapuram 

(C)  Indian Institute of Spices Research   – Idukki 

(D) Central Marine Fisheries Research Institute  – Kochi 

14. Which handicrafted item from Kerala was recently awarded GI tag, making it the first 

tribal product from Kerala to receive the tag? 

(A)  Nettur Petti 

(B) Kannadippaya 

(C) Peruvemba musical instruments  

(D) Payyannur Pavithra Mothiram 
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11. ĉĒsĝ 1 ėĉ ÿđüĔ/äœj ĘŗďđüsĒėĀ ĉĒsĝ 2 ėĉ aüĒėn uŔāđþĀ 
Ęąîĉ/îĀĒĆĔąđĆĒ ėāđćĔtėp÷ĔtĔí : 

   ĉĒsĝ 1   ĉĒsĝ 2 

 1. ėāĘŗ÷đĊĒĆÝ a. ĘíđćđāĔŨĝ 

 2. Ęăđĭęďƃĝ b. ĐĔŨĒ 

 3. íŔkćĒ c. ąĔÝęă ęĐ 

 4. ĘïđŕĹ   d. ôđćĒĆ 

(A)  1-c, 2-a, 3-d, 4-b 

(B) 1-c, 2-d, 3-b, 4-a 

(C)  1-d, 2-a, 3-c, 4-b 

(D) 1-c, 2-d, 3-a, 4-b 

12. üđėċ āĈĆĔnČĆĒŔ èļ ĀïćėtĆđĻ ĘïđŕùŒ ířđŗùĒĉđƃĈŔ 
ęĐĘČ ādüĒ ănĒpĒkđtļ? 

(A) ùŔĐĒ 

(B) ąĔÝęă 

(C)  ęĐþćđăđľ 

(D) ėòęn 

13. éďĒeàĈĒŀ íēċĒĉĔll üđėċpĈĆĔn íđœĎĒí ïĘČĎû sđāĀšĊĒŔ 
èüđĻ ėüƃđĆ ĘôđùĒ? 

(A) ėďŒŗ÷Ŕ pđĘnĎŒ ĘŗíđŁŏ ĈĒďœcĝ  - íđďœĘïđĹ 
 iŒsĒƃƣĕŨĝ 

(B) ėďŒŗ÷Ŕ ÷Ŗĕăœ ĘŗíđŁŏ ĈĒďœcĝ  - üĒćĔČĀnāĔćÝ 
  iŒsĒƃƣĕŨĝ 
(C)  inŖŒ iŒsĒƃƣĕŨĝ ëł ŏęāďŏ ĈĒďœcĝ - i÷ĔkĒ 
(D) ėďŒŗ÷Ŕ ąęĈŒ ĂĒĎĈēŏ ĈĒďœcĝ iŒsĒƃƣĕŨĝ - ėíđcĒ 

14. ĘíćĊtĒŔ ĀĒnĔll èļ íćíĞčĉ ČŏüĔČĒĀđĻ a÷ĔtĒė÷ ôĒé ÷đį 
ĉĄĒcļ, iļ ĘíćĊtĒŔ ĀĒnĔll àþŖėt àþĒČđďĒ uŔpnąđĻ? 

(A) ėĀŨƨœ ėāŨĒ 

(B) íŬđ÷ĒpđĆ 

(C)  ėāćĔėČm ďÝïēü uāíćûšŕ 

(D) āynĕœ āČĒŗü ĘąđüĒćÝ 
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15. Which international organisation defined globalisation as the ‘unrestricted cross-border 
movement of goods and services, capital, and labour’? 

(A)  World Trade Organisation 

(B) International Monetary Fund 

(C)  International Labour Organisation 

(D) United Nations Development Programme 

16. Which of the following names is not associated with the Green Revolution? 

(A)  Norman E. Borlaug (B) C. Subramaniam 

(C)  Bimal Jalan (D) M. S. Swaminathan 

17. What is the primary objective of the Pradhan Mantri Fasal Bima Yojana 
(PMFBY)? 

(A)  To provide minimum support prices for all crops 

(B) To ensure affordable crop insurance and risk coverage to farmers 

(C)  To supply free seeds and fertilizers to farmers 

(D) To promote organic farming practices 

18. Which of the following products is not exempted from GST in India? 

(A)  Fresh fruits and vegetables (B) Honey 

(C)  Newspapers (D) Packed biscuits 

19. Which of the following financial instruments is primarily used for hedging, speculation, 
or arbitrage, and derives its value from an underlying asset or index? 

(A)  Repurchase Agreement (B) Treasury Bills 

(C)  Government Securities (D) Derivatives 

20. Which one of the following sequences is correct in the context of the three largest  
coffee producing states in India? 

(A)  Kerala – Karnataka – Tamil Nadu  

(B) Karnataka – Kerala – Tamil Nadu 

(C)  Tamil Nadu – Kerala – Karnataka  

(D) Telangana – Karnataka – Kerala 

21. A mineral in which India is one of the leading producers, used in steel manufacturing, is: 

(A)  Manganese (B) Nickel 

(C)  Copper (D) Cobalt 
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15. àĘïđĊČŔkćûėt 'òćkĔíĊƧė÷ĆĔÝ ĘďČĀšĊƧė÷ĆĔÝ, ąĕĉÿĀ 
tĒėnĆĔÝ, ėüđċĒĉđĊĒĆĔė÷ĆĔÝ aĀĒĆŗnĒüąđĆ aüĒœtĒ í÷nĔll ĀēkÝ' 
enĝ ĀĒœČòĒc anđćđŗƈ ďÝð÷Ā èļ? 

(A) Ęĉđí ČŖđāđć ďÝð÷Ā 

(B) anđćđŗƈ ĀđûĆ ĀĒÿĒ 
(C)  anđćđŗƈ ėüđċĒŔ ďÝð÷Ā 

(D) éíŖćđŗƈďĄĆĔė÷ ČĒíďĀ āćĒāđ÷Ē 

16. üđėċpĈĆĔnČĆĒŔ èļ ĘāćđĻ ĐćĒü ČĒpČČĔąđĆĒ ănąĒĉīđtļ? 

(A) ĘĀđœąŒ i. ĘăđœĘĉđį (B) ďĒ. ďĔŗăhûŖÝ 
(C)  ăĒąŔ ôĉđŒ (D) eÝ. eŏ. ďřđąĒĀđýŒ 

17. ŗāÿđĀąŗnĒ ĂďŔ ăēą ĘĆđôĀĆĔė÷ (PMFBY) ŗāđýąĒí ĉkŖÝ enđĻ? 

(A) eĉīđ ČĒĊíŕkĔÝ íĔĈŧ üđšĔČĒĉ ĀŔíĔí 

(B) íœĎíœkĝ üđšđĀđČĔn ČĒĊ iŒĎĔĈŒďĔÝ ĈĒŏĭ íČĘĈôĔÝ 
uĈpđkĔí 

(C)  íœĎíœkĝ ďĞôĀŖ ČĒtĔíĊƧÝ ČĊšĊƧÝ ČĒüćûÝ ėòyƧí 

(D) ęôČíĖĎĒ ćēüĒíŕ ĘŗāđtđĐĒpĒkĔí 

18. inŖĆĒŔ üđėċpĈĆĔn uŔpnšĊĒŔ èüđĻ ôĒeŏ÷ĒĆĒŔ ĀĒnĝ 
oċĒČđkđtļ? 

(A) āĔüĒĆ āċšĊƧÝ āckĈĒíĊƧÝ  
(B) ĘüŒ 
(C)  āŗüšŕ  
(D) āđņkĝ ėòņü ăĒŏíƃƧíŕ 

19. ėĐĹôĒÝį, äĐkcČ÷Ý aėĉīŠĒŔ ądŖsü enĒČņkđĆĒ 
üđėċpĈĆĔn ďđmtĒí uāíćûšĊĒŔ èüđĻ ŗāÿđĀąđĆĔÝ 
uāĘĆđïĒkĔnļ, íĕ÷đėü aüĒėn ąĕĉŖÝ a÷ĒsđĀ àŏüĒĆĒŔ ĀĒĘnđ 
ďĕòĒíĆĒŔ ĀĒĘnđ ĉĄĒkĔnĔ. 

(A) ĈēāœĘcŏ íćđœ (B) ŗ÷ĎĈĒ ăĒĉīƧíŕ 
(C)  ïČőėąnĝ ėďíŖĕćĒƃēŏ (D) ėùĈĒĘČƃēČĔíŕ 

20. inŖĆĒŔ èƃČĔÝ íĕ÷ĔüŔ íđpĒ uļāđþĒpĒkĔn ąĕnĝ ďÝsđĀšĊƧė÷ 
āƆđtĉtĒŔ üđėċ āĈĆĔn ŗíąšĊĒŔ èüđĻ čćĒ? 

(A) ĘíćĊÝ – íœûđ÷í – üąĒŋĀđķ  
(B) íœûđ÷í – ĘíćĊÝ – üąĒŋĀđķ 
(C)  üąĒŋĀđķ – ĘíćĊÝ – íœûđ÷í  
(D) ėüĉŠđĀ – íœûđ÷í – ĘíćĊÝ 

21. inŖ ąĔŒĀĒć uŔpđþíćĒŔ onđąüĔÝ, sēŔ ĀĒœmđûtĒŔ 
uāĘĆđïĒkĔn, oćĔ ÿđüĔČđĻ : 

(A) ąđÝïĀēŏ (B) ĀĒkŔ 
(C)  ėòmĝ (D) ĘíđăđŕŨĝ 
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22. A child in a developing country presents with severe xerophthalmia (dry eyes) and an 

increased susceptibility to respiratory infections. A dietary analysis would most likely 

reveal a chronic lack of: 

(A)  Foods rich in ascorbic acid 

(B) Fortified milk and sun exposure 

(C)  Yellow and orange vegetables and fruits 

(D) Whole grains and legumes 

23. Of the following four common health metrics, which is the best indicator of cardio 

respiratory fitness? 

(A)  Resting Heart Rate 

(B) Blood Pressure 

(C)  VO2 max (maximal oxygen uptake) 

(D) Body Mass Index (BMI) 

24. In an aquatic ecosystem contaminated with mercury, which of the following organisms 

would be expected to contain the highest concentration of the toxin in its tissues? 

(A)  Phytoplankton (algae) 

(B) Zooplankton (microscopic animals) 

(C)  Small fish that eat zooplankton 

(D) A large predatory bird that eats the fish 

25. How does the process of pasteurization make milk safe to drink? 

(A) It sterilizes the milk, killing all microorganisms including bacterial spores  

(B) It uses high heat to kill pathogenic (disease-causing) bacteria and reduce the 

number of spoilage microbes, without significantly altering the nutritional 

value 

(C)  It adds beneficial bacteria (probiotics) to the milk to out compete any harmful 

ones 

(D) It filters the milk through a microscopic sieve to physically remove all 

bacteria 
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22. ČĒíďřć ćđôŖtĒėĉ oćĔ íĔŨĒkĝ í÷Ĕt ďēĘĈđłüđŔąĒĆ (ČćŪ 
íŬƧíŕ) aĀĔĄČėp÷ĔíĆĔÝ čřďĀ aûĔăđÿņkĔll ďđÿŖü 
ČœdĒkĔíĆĔÝ ėòyƧnĔ. oćĔ Ąkû ČĒčíĉĀÝ èƃČĔÝ ďđÿŖüĆĔll 
íđćŖÝ iČĆĔė÷ þēœðíđĉ aĄđČÝ ėČĊĒėp÷ĔtĔÝ : 

(A) aŏĘíđœăĒĭ àďĒĹ a÷šĒĆ Ąkûšŕ 

(B) ĘĂđœŨĒęĂĹ āđĉĔÝ ďĕćŖŗāíđčČĔÝ 

(C)  ąŧĆĔÝ ëĈŦĔÝ ĀĒĈąĔll āckĈĒíĊƧÝ āċšĊƧÝ 

(D) ÿđĀŖšĊƧÝ āĆœČœgšĊƧÝ 

23. üđėċ āĈĆĔn Āđŉ ėāđüĔ àĘćđïŖ ėąŗ÷ĒĭďĔíĊĒŔ, íđœùĒĘĆđ 
ėĈŏāĒĘĈƃĈĒ ĂĒƃĝĀďĒėn èƃČĔÝ ąĒíc ďĕòíÝ èüđĻ? 

(A) ĈsĒÝį ĐĖþĆąĒ÷Ēpĝ 

(B) ćkďmœdÝ 

(C)  VO2 āćąđČÿĒ (āćąđČÿĒ ëĭďĒôŒ àïĒćûÝ) 

(D) ĘăđùĒ ąđŏ iŒùĭŏ (BMI) 

24. ėąœkĔĈĒ ėíđŪĝ ąĉĒĀąđĆ oćĔ ôĉ àČđďČŖČsĆĒŔ, 
üđėċpĈĆĔnČĆĒŔ èļ ôēČĒĆĒĉđĻ èƃČĔÝ íĕ÷ĔüŔ ČĒĎđÝčÝ 
a÷šĒĆĒćĒkĔėąnĝ ŗāüēkĒkĔnļ? 

(A) ęĂĘƃđpđŠĝ÷ő (àŔïíŕ) 

(B) ďĕpđŠĝ÷ő (ďĕkĝąôēČĒíŕ) 
(C)  ďĕpđŠĝ÷ő ĄkĒkĔn ėòĈĒĆ ątŖÝ 

(D) ątŖėt ĄkĒkĔn oćĔ ČĉĒĆ ićāĒ÷ĒĆŒ ākĒ 

25. āđŏòęĈĘďĎŒ ŗāŗíĒĆ ąĕĉÝ āđŔ ďĔćkĒüąđĆĒ íĔ÷ĒkđŒ íċĒĆĔnļ 
ešėĀĆđĻ? 

(A) iļ āđĉĒėĀ aûĔČĒąĔkąđkĔnĔ, ăđĭ÷ēćĒĆŔ ăēôšŕ 
uŕėpė÷ eĉīđ ďĕkĝąđûĔkėĊĆĔÝ ėíđĉīƧnĔ 

(B) ĘāđĎíąĕĉŖtĒŔ íđćŖąđĆ ąđƃÝ ČćĔtđėü, ĘćđïíđćĒĆđĆ 
(ĘćđïąĔŪđkĔn) ăđĭ÷ēćĒĆíėĊ ėíđĉīđĀĔÝ Ęí÷đíĔn 
ďĕkĝąđûĔkĊƧė÷ eŬÝ íĔĈņkđĀĔÝ iüĒŔ uĆœn òĕķ 
uāĘĆđïĒkĔnĔ 

(C)  ĘþđĎíćąđĆ ăđĭ÷ēćĒĆíėĊ ĘüđŉāĒkđŒ āđĉĒŔ ïĔûÝ 
ėòyƧn ăđĭ÷ēćĒĆíŕ (ĘŗāđăĘĆđŨĒkĔíŕ) ĘòœkĔnĔ 

(D) eĉīđ ăđĭ÷ēćĒĆíėĊĆĔÝ čđćēćĒíąđĆĒ ĀēkÝ ėòyƧnüĒĀđĆĒ 
iļ oćĔ ďĕkĝą aćĒpĆĒĉĕė÷ āđŔ ĂĒŔŨœ ėòyƧnĔ 
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26. An environmental agency tests a water sample from a river downstream of a sewage 

treatment plant and finds it has a very high Biochemical oxygen Demand (BOD). This 

result indicates: 

(A)  The water is super saturated with dissolved oxygen and can support large 

fish population 

(B) The water is likely contaminated with heavy metals like lead and mercury 

(C)  The water contains a large amount of biodegradable organic pollutants 

(D) The water has highly acidic pH 

27. A tourist in Kerala develops watery diarrhea, vomiting, and severe dehydration with 

electrolyte imbalance. Stool culture reveals “Rice-water stool” positive for a gram-

negative, comma-shaped bacterium. The most likely diagnosis is Cholera and the 

immediate, life-saving treatment is:  

(A) A course of strong antibiotics 

(B) Oral Rehydration Therapy (ORT) with a solution of water, sugar and salts 

(C)  An anti-diarrheal medication to stop the fluid loss 

(D) Immediate surgery to remove the infected part of the intestine 

28. What is hypertension? 

(A)  A condition where the level of sugar in the blood is consistently too high 

(B) A condition where the pressure of the blood against the artery walls is 

consistently too high 

(C)  A condition of extreme anxiety and stress 

(D) A condition where the body’s heart rate is dangerously low 
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26. oćĔ āćĒsĒüĒ èôŒďĒ oćĔ ąĉĒĀôĉ čĔdēíćû pđnĒėn üđėċĆĔll 

ĀþĒĆĒŔ ĀĒnĔll ôĉ ďđmĒŕ āćĒĘčđÿĒcĘpđŕ aüĒŔ ČĊėć uĆœn 

ăĘĆđėíąĒkŔ ëĭďĒôŒ ùĒąđŒĹ (BOD) uėŪnĝ íėŪtĒ. â ĂĉÝ 

ďĕòĒpĒkĔnļ : 

(A) ėČllÝ ëĭďĒôĀĔąđĆĒ ďĕpœďđcƧĘĈƃĹ àĆüĒĀđŔ ČĉĒĆ 

ątŖšĊƧė÷ eŬÝ ĀĒĉĀĒœtđŒ íċĒĆĔÝ 

(B) ėČlltĒŔ ėĉĹ, ėąœkĔĈĒ üĔ÷šĒĆ ðĀĘĉđĐšŕ 

a÷šĒĆĒćĒkđÝ 

(C)  ėČlltĒŔ ČĉĒĆ aĊČĒŔ ęôČ ČĒďœjŖ ęôČ 

ąĉĒĀēíćûÝ a÷šĒĆĒćĒkđÝ 

(D) ėČlltĒŔ uĆœn aďĒùĒƃĒ ull pH uŪĝ 

27. ĘíćĊtĒėĉ oćĔ ČĒĘĀđþďŦđćĒkĝ iĉĭĘŗ÷đęĉƃĝ aďnĔĉĒüđ 

ČsĘĆđė÷ ČĆĈĒĊkÝ, óœdĒ, í÷Ĕt ĀĒœjĉēíćûÝ enĒČ uŪđíĔnĔ. 

sƨŕ íŕcœ "ęĈŏ-ČđŨœ sƨŕ" oćĔ ŗïđÝ-ėĀïƃēŌ, Ęíđą àíĖüĒĆĒĉĔll 

ăđĭ÷ēćĒĆņkĝ ĘāđďĒƃēŌ àėûnĝ íđûĒkĔnĔ. èƃČĔÝ ďđÿŖüĆĔll 

ĘćđïĀĒœûĆÝ ĘíđĊĈĆđĻ, u÷Ā÷Ē, ôēČŒ ćkĒkĔn òĒíĒt iüđĻ : 

(A) čkąđĆ ànĒăĘĆđŨĒkĔíĊƧė÷ oćĔ Ęíđŋŏ 

(B) ėČllÝ, āŦďđć, ĉČûšŕ enĒČĆĔė÷ ĉđĆĀĒ uāĘĆđïĒcĝ 

ëĈŔ ĈēęĐĘŗùĎŒ ėüĈđpĒ (ORT) 

(C)  ŗþđČíĀƈÝ ü÷ĆĔnüĒĀĔll oćĔ ànĒ-ùĘĆĈĒĆŔ ąćĔnĝ 

(D) íĔ÷ĉĒėn ĘćđïăđÿĒüąđĆ ĄđïÝ ĀēkÝ ėòyƧnüĒĀĔll a÷ĒĆnć 

čŏŗüŗíĒĆ 

28. ćkđüĒąœdÝ enđĻ? 

(A) ćktĒėĉ āŦďđćĆĔė÷ aĊŌ sĒćąđĆĒ ČĊėć 

íĕ÷ĔüĉđĆĒćĒkĔn aČs 

(B) ÿąĀĒĆĔė÷ ĄĒtĒíĊĒŔ ćkďmœdÝ sĒćąđĆĒ ČĊėć 

íĕ÷ĔüĉđĆĒćĒkĔn aČs 

(C)  aĘšĆƃėt uļíĻøĆĔÝ ďmœdČĔÝ aĀĔĄČėp÷Ĕn aČs 

(D) čćēćtĒėn ĐĖþĆąĒ÷Ēpĝ aāí÷íćąđÝ ČĒÿÝ íĔĈĆĔn aČs 
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29. While coming to a stop, a cyclist skids 5 m. The road exerts a 200 N force opposite to the 

motion? 

(a) Determine the work performed by the road on the cycle. 

(b) How much work does the cycle do on the road? 

(A)  –2000 J, 2000 J 

(B) –2000 J, 0 J 

(C)  –1000 J, 1000 J 

(D) –1000 J, 0 J 

30. Why is it dangerous to hold your breath while ascending from depth during scuba 

diving? 

(A)  Oxygen dissolves in blood faster 

(B) Nitrogen escapes violently 

(C)  Lung air volume expands due to decreasing external pressure 

(D) Heart rate increases rapidly 

31. Which of the following statements about ISRO’s SpaDeX mission is INCORRECT? 

(A)  SpaDeX demonstrated and validated technologies for rendezvous and docking 

in space 

(B) The mission involved two spacecraft, designated as Chaser and Target, which 

dock together 

(C)  The technology developed in SpaDeX will be crucial for future lunar missions 

like Chandrayaan-4 

(D) SpaDeX utilized a large, heavy spacecraft to dock with a smaller, lighter one 

32. Which requires more fuel: a voyage from the Earth to the Moon, or a voyage from the 

Moon to the Earth? 

(A)  Voyage from Earth to the Moon 

(B) Voyage from the Moon to the Earth 

(C)  Both require the same amount of fuel 

(D) It depends on the specific trajectory 
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29. oćĔ ęďkĒŕ ĀĒœtĔĘmđŕ, oćĔ ęďkĒŕ ĆđŗüĒíŒ 5 ąēƃœ 
ėünĒąđĈĔnĔ. òĉĀtĒŀ eüĒœČčtĝ ĘĈđĹ 200 N ăĉÝ ŗāĘĆđïĒkĔnĔ : 
(a) ęďkĒĊĒŔ ĘĈđĹ Ā÷tĔn Čœkĝ ĀĒœŬĆĒkĔí 

(b) ĘĈđùĒŔ ęďkĒŕ eŗü Čœkĝ ėòyƧnĔ 

(A)  –2000 J, 2000 J (B) –2000 J, 0 J 
(C)  –1000 J, 1000 J (D) –1000 J, 0 J 

30. ŏíĕă ęùČĒÝį ďąĆtĝ àċtĒŔ ĀĒnĝ ąĔíĊĒĘĉkĝ íĆĈĔĘmđŕ 
čřđďÝ āĒ÷ĒcƧ ĀĒœtĔnļ aāí÷íćąđíĔnļ enĔėíđŪĝ? 

(A) ćktĒŔ ëĭďĒôŒ ĘČïtĒŔ ĉĆĒkĔnĔ 

(B) ęĀŗ÷ôŒ čkąđĆĒ āĔĈtĔČćĔnĔ 
(C)  ăđĐŖąœdÝ íĔĈĆĔnüĒĀđŔ čřđďĘíđčtĒėĉ ČđĆĔČĒėn 

aĊŌ ČĒíďĒkĔnĔ 
(D) ĐĖþĆąĒ÷Ēpĝ ĘČïtĒŔ ČœdĒkĔnĔ 

31. iĘŗďđĆĔė÷ ŏāđėùĭŏ þĞüŖėtkĔĈĒcƧll üđėċpĈĆĔn 
ŗāŏüđČĀíĊĒŔ èüđĻ ėüƃĝ? 

(A) ăĐĒćđíđčtĝ íĕ÷ĒĘcćĉĒĀĔÝ ĘùđkĒÝïĒĀĔąĔll ďđĘŠüĒí 
ČĒþŖíŕ ŏāđėùĭŏ ŗāþœčĒpĒkĔíĆĔÝ ďđÿĕíćĒkĔíĆĔÝ 
ėòņüĔ 

(B) þĞüŖtĒŔ Ęòďœ, ÷đœėïƃĝ enĒšėĀ ćŪĝ ăĐĒćđíđč 
Ęā÷íšŕ uŕėp÷ĔnĔ, aČ oćĔąĒcĝ Ęùđkĝ ėòyƧnĔ 

(C)  òŗnĆđŒ-4 ĘāđĉĔll ĄđČĒĆĒėĉ òđŗn þĞüŖšŕkĝ 
ŏāđėùĭďĒŔ ČĒíďĒpĒc ďđĘŠüĒíČĒþŖ ĀĒœûđĆíąđíĔÝ 

(D) ėòĈĔüĔÝ ĄđćÝ íĔĈŧüĔąđĆ onĝ Ęùđkĝ ėòyđŒ ŏāđėùĭŏ 
oćĔ ČĉĔüĔÝ ĄđćĘąĈĒĆüĔąđĆ ăĐĒćđíđč Ęā÷íÝ uāĘĆđïĒcƧ. 

32. ĄĕąĒĆĒŔ ĀĒnĝ òŗnĀĒĘĉkĔll Ćđŗü, aėĉīŠĒŔ òŗnĀĒŔ ĀĒnĝ 
ĄĕąĒĆĒĘĉkĔll Ćđŗü èüĒĀđĻ íĕ÷ĔüŔ inĀÝ àČčŖąĔllļ? 

(A) ĄĕąĒĆĒŔ ĀĒnĝ òŗnĀĒĘĉkĔll Ćđŗü 

(B) òŗnĀĒŔ ĀĒnĝ ĄĕąĒĆĒĘĉkĔll Ćđŗü 

(C)  ćŪĒĀĔÝ oĘć aĊČĒŔ inĀÝ àČčŖąđĻ 

(D) iļ ĀĒœdĒƈ āđüėĆ àŗčĆĒcĒćĒkĔnĔ 
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33. A cricket player lowers his hands while catching a fast ball. Which Newton’s law is 

directly applied, and why does this reduce injury? 

(A)  1st law; extends time to reduce inertia 

(B) 2nd law; increase time, reducing force 

(C)  3rd law; equal reaction force cancels 

(D) 1st law; prevents backward motion 

34. A submarine can rise or sink in water by controlling its ballast tanks. When the tanks 

are filled with water, the submarine sinks and the tanks are filled with air, it rises. 

Which principle explains this ability? 

(A)  Bernoulli’s theorem - faster flow reduces pressure 

(B) Archimedes’ principle - buoyant force depends on displaced water 

(C)  Pascal’s principle - pressure is transmitted equally in all directions 

(D) Newton’s third law -  every action has an equal and opposite reaction 

35. Match the following EM wave types with their application  

  EM wave type  Application 

(a) Microwaves (i) Used to kill germs in water purifiers 

(b) Radio waves (ii) For radar systems used in aircraft   

    navigation 

(c) UV rays (iii) For broadcasting 

(d) Gamma rays (iv) Used in  medicine to destroy cancer   

    cells 

(A) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 

(B)  (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) 

(C)  (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 

(D)  (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) 
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33. oćĔ ŗíĒkƃĝ íĊĒkđćŒ oćĔ Ăđsĝ Ęăđŕ āĒ÷ĒkĔĘmđŕ ęííŕ 
üđŋtĔnĔ. èļ ĀŖĕŨėn ĀĒĆąąđĻ ĘĀćĒŨĝ ŗāĘĆđïĒkĔnļ, iļ āćĒkĝ 
íĔĈņkĔnļ enĔėíđŪĝ? 

(A) onđÝ ĀĒĆąÝ; ôùüřÝ íĔĈņkđŒ ďąĆÝ ĀēŨƧnĔ 

(B) ćŪđÝ ĀĒĆąÝ; ďąĆÝ ČœdĒpĒkĔí, ăĉÝ íĔĈņkĔí 

(C)  ąĕnđÝ ĀĒĆąÝ; üĔĉŖ ŗāüĒŗāČœtĀ ăĉÝ ĈdđkĔnĔ 
(D) onđÝ ĀĒĆąÝ; āĒĘnđŨƧll òĉĀėt ü÷ĆĔnĔ 

34. oćĔ anœČđĐĒĀĒkĝ aüĒėn ăđĉsĝ ÷đŠĔíŕ ĀĒĆŗnĒkĔnüĒĉĕė÷ 
ėČlltĒŔ uĆćĔíĘĆđ ąĔšĔíĘĆđ ėòyđÝ. ÷đŠĔíĊĒŔ ėČllÝ 
ĀĒĈņkĔĘmđŕ, anœČđĐĒĀĒ ąĔšĔíĆĔÝ ÷đŠĔíĊĒŔ ČđĆĔ 
ĀĒĈņkĔíĆĔÝ ėòyƧĘmđŕ, aļ uĆćĔíĆĔÝ ėòyƧnĔ. â íċĒŌ 
ČĒčþēíćĒkĔn üüřÝ èüđĻ? 

(A) ėăœûĕĉĒĆĔė÷ ďĒdđnÝ - ĘČïtĒĉĔll oċĔkĝ ąœdÝ 
íĔĈņkĔnĔ 

(B) àœkĒąĒùēďĒėn üüřÝ - pČí ăĉÝ sđĀŗĄÝčÝ ďÝĄČĒc 
ôĉėt àŗčĆĒcĒćĒkĔnĔ 

(C)  āđŏíĉĒėn üüřÝ - ąœdÝ eĉīđ þĒčíĊĒĘĉkĔÝ üĔĉŖąđĆĒ 
āíćĔnĔ 

(D) ĀŖĕŨėn ąĕnđÝ ĀĒĆąÝ - ëĘćđ ŗāČĖtĒkĔÝ üĔĉŖČĔÝ 
ČĒāćēüČĔąđĆ ŗāüĒŗāČœtĀąĔŪĝ 

35. üđėċpĈĆĔn EM üćÝï üćšėĊ aČĆĔė÷ ŗāĘĆđïČĔąđĆĒ 
ėāđćĔtėp÷ĔtĔí : 

EM üćÝï üćÝ   ŗāĘĆđïÝ 

(a)  ęąĘŗíđĘČŌ   (i)  ôĉ čĔdēíćûĒíĊĒŔ aûĔkėĊ  
      ėíđĉīđŒ uāĘĆđïĒkĔnĔ 
(b)  ĘĈùĒĘĆđ üćÝïÝ   (ii) ČĒąđĀ ĀđČĒĘïĎĀĒŔ uāĘĆđïĒkĔn  
      Ĉùđœ ďÝČĒÿđĀšŕkĝ 
(c) UV ćōąĒíŕ    (iii)  ŗāĘkāûtĒĀđĆĒ 
(d)  ïđąđ íĒćûšŕ  (iv) íđŒďœ ĘíđčšėĊ ĀčĒpĒkđŒ  
     ąćĔnĒŔ uāĘĆđïĒkĔnĔ 

(A) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 

(B)  (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) 

(C)  (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv) 

(D)  (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) 
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36. Name a compound used as antioxidant for packaged foods : 

(A)  MSG (B) Baking powder 

(C)  Vinegar (D) Butylated hydroxyanisole 

37. Which of the following metals do not cause toxic  contamination of food? 

(A)  Lead (B) Mercury 

(C)  Cadmium (D) Aluminium 

38. What is the acid present in vinegar? 

(A) Acetic acid (B) Tartaric acid 

(C)  Citric acid (D) Formic acid 

39. How many elements are present in the first inner transition series? 

(A)  16 (B) 10 

(C)  18 (D) 14 

40. When 3d orbitals are completely filled, the new electron will enter into :   

(A)  4s orbitals (B) 4p orbitals 

(C)  4d orbitals (D) None of these 

41. What does the magnetic quantum number signify? 

(A) Shape of orbitals (B) Nuclear stability 

(C)  Orientation of orbital (D) Size of orbital 

42. Which among the following properties decreases left to right along a period? 

(A)  Ionisation energy (B) Electron affinity 

(C)  Atomic radius (D) Valency 
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36. āđņkĝ ėòņü Ąkûšŕkĝ ànĒëĭďĒùnđĆĒ uāĘĆđïĒkĔn oćĔ 
ďÝĆĔktĒėn ĘāŇ ĀŔíĔí : 

(A) eÝeŏôĒ  

(B) ĘăkĒÝį āĞùœ 

(C)  ČĒĀđïĒćĒ 

(D) ăŖĕŨĒĘĉƃĹ ęĐĘŗùđĭďĒĆđĀĒĘďđŕ 

37. üđėċ āĈĆĔnČĆĒŔ èļ ĘĉđĐąđĻ ĄkûtĒŔ ČĒĎđÝčÝ 
uŪđkđtļ? 

(A) ėĉĹ (B) ėąœkĔĈĒ 

(C)  íđĹąĒĆÝ (D) aĉĔąĒĀĒĆÝ 

38. ČĒĀđïĒćĒĆĒŔ a÷šĒĆĒćĒkĔn àďĒĹ enđĻ? 

(A) aďƃĒĭ àďĒĹ (B) ÷đœ÷đĈĒĭ àďĒĹ 

(C)  ďĒŗ÷Ēĭ àďĒĹ (D) ĘĂđœąĒĭ àďĒĹ 

39. àþŖėt ànćĒí ďÝŗíąû ĘŗčûĒĆĒŔ eŗü ąĕĉíšĊƧŪĝ? 

(A) 16 (B) 10 
(C) 18 (D) 14 

40. 3d ëœăĒƃĉĔíŕ āĕœŬąđĆĔÝ ĀĒĈĆĔĘmđŕ, āĔüĒĆ iĉĭĘŗ÷đő 
____________ ëœăĒƃĉĔíŕ ŗāĘČčĒkĔÝ. 

(A) 4s ëœăĒƃĉĔíŕ (B) 4p ëœăĒƃĉĔíŕ 

(C) 4d ëœăĒƃĉĔíŕ (D) iČėĆđnĔąĉī 

41. ąđgƃĒĭ ířđŪÝ Āmœ enđĻ ďĕòĒpĒkĔnļ? 

(A) ëœăĒƃĉĔíĊƧė÷ àíĖüĒ (B) ĀŖĕkĒĆœ sĒćü 

(C) ëœăĒƃĉĒėn ëĈĒĆĘnĎŒ (D) ëœăĒƃĉĒėn ČĉĒpÝ 

42. üđėċpĈĆĔn ïĔûšĊĒŔ èüđĻ oćĔ āēćĒĆùĒŔ i÷tĔĀĒnĝ ČĉĘtđŨĝ 
íĔĈĆĔnļ? 

(A) aĘĆđęûĘďĎŒ äœjÝ (B) iĉĭĘŗ÷đő aĂĒĀĒƃĒ 

(C)  àĘƃđąĒĭ ĘĈùĒĘĆĎŒ (D) ČđĉŒďĒ 
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43. The story and screenplay of the movie Neelakkuyil was written by : 

(A)  P. Bhaskaran (B) Uroob 

(C)  Ramu Karyatt (D) K. Raghavan 

44. The ritual ‘Akkitha’ is associated with : 

(A)  Kudiyattam (B) Mudiyettu 

(C) Yakshaganam (D) Padayani 

45. Sahodaran Ayyappan organized first Misrabhojanam at Cherai in : 

(A)  1911 (B) 1901 

(C)  1917 (D) 1924 

46. Porulathikaram is a part of : 

(A)  Purananuru (B) Tholkapiyam 

(C) Akathiyam (D) Thirukkural 

47. Baris is believed to be the ancient name of the river : 

(A)  Bhavani (B) Bharathappuzha 

(C)  Pamba (D) Periyar 

48. Kumaranasan wrote “Enthinu Bharathadhare Karayunnu? Parathanthryam 

vidhikalpithamanu Thaye” in : 

(A)  Gramavrukshathile Kuyil (B) Oru ulbodhanam 

(C)  Oru theeyakuttiyude Vicharam (D) Simhaprasavam 

49. Which is the character called as “Mucheettu Kalikkarante Makal”? 

(A)  Suhara (B) Sainaba 

(C)  Ayisha (D) Pathumma 

50. The first Malayalam short story-Vasanavikruthi was published in : 

(A) Vidyavinodini (B) Vidyavilasini 

(C) Bhashaposhini (D) Jnananikshepam 
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43. ĀēĉkĔĆĒŔ en ďĒĀĒąĆĔė÷ íýĆĔÝ üĒćkýĆĔÝ eċĔüĒĆļ : 

(A) āĒ. ĄđŏíćŒ (B) uĈĕŃ 

(C)  ćđąĔ íđćŖđŨĝ (D) ėí. ćđðČŒ 

44. 'akĒü’ en àòđćÝ iüĔąđĆĒ ănėpŨĒćĒkĔnĔ : 

(A) íĔ÷ĒĆđŨÝ (B) ąĔ÷ĒĘĆƃĝ 

(C)  ĆkïđĀÝ (D) ā÷ĆûĒ 

45. ėòĈđĆĒĆĒŔ __________ ĉđĻ ďĘĐđþćŒ aypŒ àþŖąđĆĒ ąĒŗčĘĄđôĀÝ 
ďÝð÷ĒpĒcļ. 

(A) 1911 (B) 1901 
(C)  1917 (D) 1924 

46. __________ ėn oćĔ ĄđïąđĻ ėāđćĔĊüĒíđćÝ. 

(A) āĔĈĀđĀĕň (B) ėüđŔkđpĒĆÝ 

(C)  aítĒĆÝ (D) üĒćĔkĔĈŕ 

47. ________ ĀþĒĆĔė÷ āĔćđüĀ ĀđąąđĻ ăđćĒŏ enĝ ČĒčřďĒkėp÷ĔnĔ. 

(A) ĄČđĀĒ (B) ĄđćüpƧċ 

(C)  ām (D) ėāćĒĆđœ 

48. íĔąđćĀđčđŒ eċĔüĒĆļ "enĒŀ ĄđćüĘć íćĆĔnĔ? āđćüŗnŖÝ 
ČĒÿĒíŔāĒüąđûĔ üđĘĆ". èüĒėĉ ČćĒíĊđĻ? 

(A) ŗïđąČĖktĒėĉ íĔĆĒŔ (B) oćĔ uŕĘăđÿĀÝ 

(C)  oćĔ üēykĔŨĒĆĔė÷ ČĒòđćÝ (D) ďĒÝĐŗāďČÝ 

49. "ąĔcēŨĝ íĊĒkđćėn ąíŕ" enĝ ČĒĊĒkėp÷Ĕn íýđāđŗüÝ èļ? 

(A) ďĔĐĈ (B) ęďĀă 

(C)  àĆĒĎ (D) āđtĔm 

50. àþŖėt ąĉĆđĊÝ ėòĈĔíý-ČđďĀđČĒíĖüĒ ŗāďĒdēíćĒcļ : 

(A) ČĒþŖđČĒĘĀđþĒĀĒ (B) ČĒþŖđČĒĉđďĒĀĒ 

(C)  ĄđĎđĘāđĎĒûĒ (D) jđĀĀĒĘkāÝ 
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51. Which of the following statements about the National games held at Uttarakhand in 

2025 is correct? 

(i) Sawan Barwal won gold medal in 10000 metre race and created new record 

(ii) Dhinidhi Desinghu won gold medal in swimming and created new record 

(iii) Mehak Sharma won gold medal in weightlifting and created new record 

(A)  Only (i) and (ii)  

(B) Only (ii) and (iii) 

(C)  All of the above ((i), (ii) and (iii))  

(D) None of the above ((i), (ii) and (iii)) 

52. Choose the National-level sports organizations of India from the following options 

(A)  PCI and IOA (B) IOA and IPC 

(C)  IPC and IOC (D) PCI and IOC 

53. Which of the following correctly represents India’s medal tally at the Paris Olympics 

2024? 

(A)  1 Gold, 0 silver and 5 Bronze  

(B) 0 Gold, 1 silver and 5 Bronze 

(C)  0 Gold, 2 silver and 4 Bronze  

(D) 1 Gold, 0 silver and 4 Bronze 

54. Which of these is the fastest type of memory? 

(A) Cache (B) Hard Disk 

(C) USB (D) RAM 
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51. 2025-Ŕ utćđîūĒŔ Ā÷n ĘþčēĆ ėïĆĒÝďĒėĀkĔĈĒcƧll üđėċpĈĆĔn 
ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(i)  10000 ąēƃœ ëŨtĒŔ ďđČŒ ăœČđŕ ďřœŬ ėąùŔ ĘĀ÷Ē āĔüĒĆ 
ėĈĘkđœĹ ďĖƈĒcƧ 

(ii) ĀēnĉĒŔ ÿĒĀĒÿĒ ĘþčĒŠĔ ďřœŬ ėąùŔ ĘĀ÷Ē āĔüĒĆ ėĈĘkđœĹ 
ďĖƈĒcƧ 

(iii) ėČĆĒƃĝ ĉĒłƃĒšĒŔ ėąĐĭ čœm ďřœŬ ėąùŔ ĘĀ÷Ē āĔüĒĆ 
ėĈĘkđœĹ ďĖƈĒcƧ 

(A) (i), (ii) ąđŗüÝ  

(B) (ii), (iii) ąđŗüÝ 

(C)  ĘąŔpĈŧČėĆĉīđÝ ((i), (ii), (iii))  

(D) ĘąŔpĈŧČėĆđnĔąĉī ((i), (ii), (iii)) 

52. üđėċ āĈĆĔn ëŁĎĀĔíĊĒŔ ĀĒnĝ inŖĆĒėĉ ĘþčēĆ üĉtĒĉĔll 

íđĆĒí ďÝð÷ĀíėĊ üĒćėŧ÷ĔkĔí : 

(A) āĒďĒé, éoe (B) éoe, éāĒďĒ 

(C)  éāĒďĒ, éoďĒ (D) āĒďĒé, éoďĒ 

53. 2024 ėĉ āđćēŏ oĊĒmĒĭďĒŔ inŖĆĔė÷ ėąùŔ ĘĀŨėt 
üđėċpĈĆĔnČĆĒŔ èüđĻ čćĒĆđĆĒ ŗāüĒĀĒÿēíćĒkĔnļ? 

(A) 1 ďřœŬÝ, 0 ėČllĒ, 5 ėČŠĉÝ  

(B) 0 ďřœŬÝ, 1 ėČllĒ, 5 ėČŠĉÝ 

(C)  0 ďřœŬÝ, 2 ėČllĒ, 4 ėČŠĉÝ  

(D) 1 ďřœŬÝ, 0 ėČllĒ, 4 ėČŠĉÝ 

54. iČĆĒŔ èüđĻ èƃČĔÝ ĘČïüĘĆĈĒĆ ėąmĈĒ ę÷pĝ? 

(A) íđėĎ (B) ĐđœĹ ùĒŏĭ 

(C)  ĆĔeŏăĒ (D) ĈđÝ 
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55. Which application software is primarily used for managing large data sets? 

(A)  MS Word (B) MS Paint 

(C) MS Access (D) VLC Media Player 

56. The act of assigning a value to a variable is a : 

(A)  Control instruction  

(B) Store instruction 

(C)  Transfer instruction  

(D) Output instruction 

57. Which device connects multiple computers in a LAN and filters traffic based on MAC 

addresses? 

(A)  Switch (B) Router 

(C)  Hub (D) Bridge 

58. Which of these devices performs packet switching and determines the optimal path for 

data? 

(A)  Switch (B) Hub 

(C)  Router (D) Bridge 

59. What does the <a> tag in HTML define? 

(A)  An animation (B) An anchor for hyperlinks 

(C)  An audio file (D) An attachment 
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55. ČĉĒĆ ùđƃđ ėďƃƧíŕ ęííđćŖÝ ėòyƧnüĒŀ ŗāÿđĀąđĆĔÝ 

uāĘĆđïĒkĔn àpĒĘkĎŒ Ęďđłƃĝ ėČĆœ èüđĻ? 

(A) eÝeŏ ĘČĹ (B) eÝeŏ ėāĆĒnĝ 

(C)  eÝeŏ aďŏ (D) ČĒeŔďĒ ąēùĒĆ ėpĆœ 

56. oćĔ ĘČćĒĆăĒĊĒŀ oćĔ ąĕĉŖÝ ĀŔíĔn ŗāČĖtĒ : 

(A) ĀĒĆŗnû ĀĒœĘdčÝ  

(B) Ęsđœ ĀĒœĘdčÝ 

(C)  ŗ÷đŒŏĂœ ĀĒœĘdčÝ  

(D) ìŨĝ āĔŨĝ ĀĒœĘdčÝ 

57. oćĔ LAN-ĀĒŔ onĒĉÿĒíÝ ímŖĕŨĈĔíėĊ ănĒpĒkĔíĆĔÝ MAC 

ČĒĉđďšėĊ a÷ĒsđĀąđkĒ ŗ÷đĂĒĭ ĂĒŔŨœ ėòyƧíĆĔÝ ėòyƧn 

uāíćûÝ èüđĻ? 

(A) ďřĒcĝ (B) ĈĕŨœ 

(C)  ĐŃ (D) ŗăĒĹĴ 

58. āđkƃĝ ďřĒcĒÝį Ā÷tĔíĆĔÝ ùđƃņkĔll oŁƃĒąŔ āđtĝ 

ĀĒœŬĆĒkĔíĆĔÝ ėòyƧn uāíćûĘąļ? 

(A) ďřĒcĝ (B) ĐŃ 

(C)  ĈĕŨœ (D) ŗăĒĹĴ 

59. HTML-ėĉ <a> tag enđĻ ĀĒœČòĒkĔnļ? 

(A) oćĔ àĀĒĘąĎŒ  

(B) ęĐpœĉĒŠĔíŕkĔll oćĔ àŠœ 

(C)  oćĔ ëùĒĘĆđ ĂĆŔ  

(D) oćĔ aƃđcĝėąnĝ 
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60. Find the value of 50050005.005.05.0 ××××  

(A) 31.25 (B) 0.03125 

(C)  0.3125 (D) 3.125 

61. If the price of the commodity is increased by 50% by what fraction must its consumption 
be reduced so as to keep the same expenditure on its consumption? 

(A)  
4
1

 (B) 
3
1

 

(C) 
2
1

 (D) 
3
2

 

62. On a certain sum of money, the compound interest for 2 years is Rs.304.5 and the simple 
interest for the same period is Rs.290. Find the rate of interest per annum : 

(A)  9% (B) 8% 

(C)  11% (D) 10% 

63. A bag has Rs.785 in the denomination of Rs.2,Rs.5 and Rs.10 coins. The coins are in the 
ratio of 6 : 9 : 10. How many coins of Rs.5 are in the bag : 

(A)  60 (B) 12 

(C)  45 (D) 24 

64. 542 333 ×× −  is equal to : 

(A)  33  (B) 23  

(C)  53  (D) 3  

65. Ram and Shyam together can build a house in 10 days; Ram and Arun can build it 
together in 12 days and Shyam and Arun can build it in 15 days. Shyam, Arun and Ram 
start working together. In how many days they build the house? 

(A)  4 days (B) 6 days 

(C)  8 days (D) 12 days 

66. If cba ,,  are in Arithmetic Progression, then which one is true? 

(A)  bca 2=+  (B) cab 2=+  

(C) 
2

ba
c

+=  (D) bca =+  
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60. 50050005.005.05.0 ××××  ėn ąĕĉŖÝ íûkđkĔí : 
 (A) 31.25 (B) 0.03125 
 (C) 0.3125 (D) 3.125 

61. uŔpntĒėn ČĒĉ 50% ČœdĒpĒcđŔ, aüĒėn uāĘĄđï ėòĉŌ aĘü 
ĀĒĉĆĒŔ ĀĒĉĀĒœtđŒ aüĒėn uāĘĄđïÝ eŗü čüąđĀÝ íĔĈņkûÝ? 

 (A) 
4
1

 (B) 
3
1

 

 (C) 
2
1

 (D) 
3
2

 

62. oćĔ ĀĒƆĒü üĔíņkĝ, 2 ČœĎĘtkĔll íĕŨƧāĉĒč 304.5 ćĕāĆĔÝ aĘü 
íđĉĆĊČĒĘĉkĔll ďđÿđćû āĉĒč 290 ćĕāĆĔąđĻ. ČđœĎĒí āĉĒč 
ĀĒćkĝ eŗüĆđėûnĝ íėŪtĔí : 

(A) 9% (B) 8% 
(C) 11% (D) 10% 
 

63. oćĔ ăđïĒŔ 785 ćĕāņkĝ 2, 5, 10 ćĕā ĀđûĆšŕ uŪĝ. ĀđûĆšŕ  
6 : 9 : 10 en aĀĔāđütĒĉđĻ. ăđïĒŔ 5 ćĕāĆĔė÷ eŗü ĀđûĆ 
šĊƧŪĝ? 

(A) 60 (B) 12 
(C)  45 (D) 24 

64. 542 333 ×× −  ĀĔ üĔĉŖąđĻ : 

(A) 33  (B) 23  

(C) 53  (D) 3  

65. ćđąĀĔÝ čŖđąĔÝ Ęòœnĝ 10 þĒČďÝ ėíđŪĝ oćĔ Čēķ ĀĒœmĒkĔnĔ; ćđąĀĔÝ 
aćĔûĔÝ Ęòœnĝ 12 þĒČďÝ ėíđŪĝ oćĔ Čēķ ĀĒœmĒkĔnĔ, čŖđąĔÝ 
aćĔûĔÝ Ęòœnĝ 15 þĒČďÝ ėíđŪĝ oćĔ Čēķ ĀĒœmĒkĔnĔ. čŖđąĔÝ 
aćĔûĔÝ Ęòœnĝ ĘôđĉĒ ėòyđŒ üĔ÷šĒĆđŔ eŗü þĒČďÝ ėíđŪĝ aČœ 
Čēķ ĀĒœmĒkĔÝ? 

(A) 4 þĒČďÝ (B) 6 þĒČďÝ  
(C)  8 þĒČďÝ  (D) 12 þĒČďÝ 

66. cba ,,  enļ ïûĒü āĔĘćđïüĒĆĒĉđėûŠĒŔ, èüđĻ čćĒĆđĆļ? 

(A) bca 2=+  (B) cab 2=+  

(C) 
2

ba
c

+=  (D) bca =+  
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67. The side of a square is 8 cm. If its side is doubled, then its new perimeter is : 

(A)  64 (B) 81 

(C)  121 (D) 32 

68. Find the missing term in the given number pattern : 

5, 13, 29, ____, 125, 253 

(A)  83 (B) 69 

(C)  61 (D) 65 

69. Find the odd one out : 

(A)  3 : 14 (B) 5 : 18 

(C)  8 : 24 (D) 6 : 30 

70. In a certain code “FANTA” is written as “ LGTZG” . How is “ CRICKET” is written in 
that code? 

(A)  NSKLIEA (B) FKCLIEC 

(C) IXOIQKZ (D) OWMAMDK 

71. Pankaj is the son of Rajesh and Swapna, while Deepa is the only granddaughter of 
Sheela who is the mother of Prakash and Swapna. If Prakash is unmarried and brother 
of the wife of Rajesh, then how is Pankaj is related to Deepa? 

(A)  Uncle (B) Brother 

(C) Father (D) Son 

72. A train of length 400 m takes 15 seconds to cross a train of length 300 m traveling at  
60 km/h from the opposite direction along a parallel track. What is the speed of the 
longer train in km/h? 

(A)  108 (B) 102 

(C)  98 (D) 96 

73. It was Sunday on Jan. 1, 2006. What was the day of the week Jan. 1, 2010? 

(A)  Sunday (B) Monday 

(C)  Saturday (D) Friday 

74. Choose the correctly spelt word : 

(A)  Compassionate (B) Compasionate 

(C)  Compationate (D) Compassionete 



 

 

122/2025-M 

 A -33-

67. oćĔ òüĔćtĒėn ČčÝ 8 ėď.ąē àĻ. aüĒėn ČčÝ ićŨĒĆđkĒĆđŔ, 

aüĒėn āĔüĒĆ òĔƃĊŌ : 

(A) 64 (B) 81 
(C)  121 (D) 32 

68. üđėċ ĀŔíĒĆĒćĒkĔn ďÝîŖđ āđĘƃûĒŔ ČĒŨƧĘāđĆ āþÝ íŪĔāĒ÷ĒkĔí : 
 5, 13, 29, ____, 125, 253  

(A) 83 (B) 69 
(C)  61 (D) 65 

69. oƃĆđėĀ íėŪtĔí : 

(A)  3 : 14  (B)  5 : 18 

(C)  8 : 24  (D)  6 : 30 

70. oćĔ ŗāĘüŖí ĘíđùĒŔ “FANTA” enļ “LGTZG” enĝ eċĔüĒĆĒćĒkĔnĔ. 
à ĘíđùĒŔ “CRICKET” ešėĀĆđĻ eċĔüĒĆĒćĒkĔnļ? 

(A) NSKLIEA  (B) FKCLIEC 

(C) IXOIQKZ  (D) OWMAMDK 

71. āŠĴ, ćđĘôĎĒėnĆĔÝ ďřŁĀĆĔė÷ĆĔÝ ąíĀđĻ, aĘüďąĆÝ þēā 
ŗāíđčĒėnĆĔÝ, ďřŁĀĆĔė÷ĆĔÝ amĆđĆ ĎēĉĆĔė÷ èí ėòĈĔąíĊđĻ. 
ŗāíđō aČĒČđĐĒüĀĔÝ ćđĘôĎĒėn ĄđćŖĆĔė÷ ďĘĐđþćĀĔąđėûŠĒŔ, 
āŠôĔÝ þēāĆĔÝ ümĒĉĔll ănÝ enđĻ? 

(A) amđČŒ (B) ďĘĐđþćŒ 

(C)  acŒ (D) ąíŒ 

72. 400 ąēƃœ ĀēĊąĔll oćĔ üēČŪĒ, eüĒœþĒčĆĒŔ ĀĒnĝ oćĔ ďąđnć 
āđüĆĒĉĕė÷ ąûĒkĕĈĒŔ 60 íĒĘĉđąēƃœ ĘČïüĆĒŔ ďŦćĒkĔn 300 ąēƃœ 
ĀēĊąĔll oćĔ üēČŪĒėĆ ąĈĒí÷kđŒ 15 ėďknĝ e÷ĔkĔÝ. ĀēĊąĔll 
üēČŪĒĆĔė÷ ĘČïü ąûĒkĕĈĒŔ eŗüĆđĻ? 

(A) 108 (B) 102 
(C)  98 (D) 96 

73. 2006 ôĀĔČćĒ 1 öđĆĈđŋòĆđėûŠĒŔ 2010 ôĀĔČćĒ 1 èļ þĒČďąđĻ? 

(A) öđĆĈđŋò (B) üĒŠĊđŋò 

(C) čĀĒĆđŋò (D) ėČllĒĆđŋò 

74. čćĒĆđĆ akćČĒĀŖđďąĔll Čđkĝ üĒćėŧ÷ĔkĔí : 

(A) Compassionate (B) Compasionate 
(C) Compationate (D) Compassionete 
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75. Neither Riya nor Gina ____________ any knowledge of the incident.  

(Choose the correct verb) 

(A)  has (B) have 

(C)  were (D) are 

76. What is the collective noun used for lions? 

(A)  fleet (B) swarm 

(C)  pride (D) mob 

77. Please ask her to report today, ____________ (Select a suitable question tag) 

(A)  can you? (B) will you? 

(C)  should you? (D) don’t you? 

78. They postponed the meeting due to an unexpected  delay in processing the documents. 

(Pick a phrasal verb that can substitute the underlined word.) 

(A)  move out (B) took off 

(C)  take out (D) put off 

79. Which among the following is a correct sentence? 

(A)  No other boy in the class is as smart as Rahul 

(B) No other boys in the class is as smart as Rahul 

(C)  No other boy in class are as smart as Rahul 

(D) No other boy in the class are smarter than Rahul 

80. I am searching for ways to break the ice with my new class. (What is the meaning of the 

idiom, “break the ice”?) 

(A) To do something that makes people feel more reliable 

(B) To do something that makes people feel more hard-working 

(C) To do something that makes people feel more relaxed 

(D) To do something that makes people feel more focused 
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81. The king ruled ____________ a vast empire. Pick the correct preposition. 

(A) from (B) over 

(C) about (D) by 

82. Which of the following is the correct spelling? 

(A) occasion (B) ocasion 

(C) occassion (D) occation 

83. ____________ watch that you want is ____________ limited edition. (Use the correct 

articles.) 

(A) A, a (B) The, the 

(C) A, the (D) The, a 

84. What is the antonym of benevolent? 

(A) sympathetic (B) cruel 

(C) elegant (D) simple 

85. “Shut the door!” (What is the passive voice of this sentence?)  

(A) Let the door be shut 

(B) Someone has to shut the door 

(C) You have to shut the door 

(D) Please shut the door 

86. What is the one word for a person who always looks at things in a positive manner? 

(A) Narcissist (B) Pessimist 

(C) Optimist (D) Meliorist 

87. What modal auxiliary is used to suggest necessity or obligation? 

(A) Shall (B) Can 

(C) Might (D) Must 
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88. čćĒĆđĆ āþšŕ ąđŗüÝ íėŪtĔí : 

(1) íĖŗüĒąÝ  

(2) ĀđĆíĒ 

(3) ĀĒƈ 

(4) a÷ĒątÝ 

(A) eĉīđÝ čćĒ (B) (1)  ąđŗüÝ čćĒ 

(C) (1)-uÝ, (2)-uÝ, (4)-uÝ čćĒ (D) (1)-uÝ, (4)-uÝ čćĒ 

89. čćĒĆđĆ ČđíŖÝ íėŪtĔí : 

(A) aĘdĐėt ĐđœdČąđĆĒ ďřđïüÝ ėòņüĔ 

(B) aĘdĐėt ĐđœdąđĆĒ ďřđïüÝ ėòņüĔ 

(C)  aĘdĐėt ĐđdąđĆĒ ďřđïüÝ ėòņüĔ  

(D) aĘdĐėt ĐđœdČąđĆĒ ďřđïüÝ ėòņüĔ 

90. ‘íĔŨĒĘcđĈđkĔí’ en ęčĉĒĆĔė÷ aœtėąnĝ? 

(A) íĔŨĒ Ęòđň uŪđkĔí (B) aċĒąüĒ íđûĒkĔí 

(C)  íăĊĒpĒkĔí (D) ĀčĒpĒkĔí 

91. ‘unüÝ’ en āþtĒėn ČĒāćēüāþÝ üđėċ ünĒćĒkĔnČĆĒŔ èüđĻ? 

(A) aüŖĔnüÝ (B) aĀĀŖĔüÝ 

(C)  ĀüÝ (D) unĔîÝ 

92. ‘âc’ āćŖđĆāþÝ üđėċ ünĒćĒkĔnČĆĒŔ èüđĻ? 

(A) ąkĒí (B) ďĉīíĒ 

(C)  ākÝ (D) óþÝ 

93. ‘aČŒ’ en āþÝ ešėĀ āĒćĒėcċĔüđÝ? 

(A) a + ČŒ (B) à + ČŒ 

(C)  aČ + aŒ (D) a + aŒ 

94. ‘ĀđĉŦĝ’ en āþėt ð÷í āþšĊđkĔí : 

(A) ĀđĉĔÝ aŦĔÝ (B) Āđŉ aėĉīŠĒŔ aŦĝ 

(C) ĀđĘĉđ aĘŦđ (D) ĀđĉĒŔ aŦĝ 
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95. üđėċ ünĒćĒkĔnČĆĒŔ aĉĒÝïăĐĔČòĀtĒŀ uþđĐćûÝ èļ? 

(A) ôĀšŕ (B) ČĀĒüíŕ 

(C)  čđŏŗüĒíŕ (D) ęČþŖœ 

96. üđėċ ünĒćĒkĔnČĆĒŔ ŏŗüēĉĒÝïtĒŀ uþđĐćûÝ èļ? 

(A) ČĒĉđďĒ (B) ĘĆđŗdĒ 

(C)  ČĒĘĀđþĒ (D) ďĒÝĐÝ 

97. ‘ĄkĒkđŒ àŗïĐĒkĔnČŒ’ enüĒėn oƃpþÝ èüđĻ? 

(A) āĒāđďĔ (B) ĄĒþĖĎĔ 
(C)  ăĔĄĕĎĔ (D) ąĔąĔkĔ 

98. ‘Fool grow without watering’ ąĉĆđĊtĒĘĉkĝ āćĒĄđĎėp÷ĔtĔí : 

(A) ČĎĊĀĔ ėČllÝ ĘČŪ  

(B) ėČllÝ ĘČŪ ČĎĊĀĔ ČĊćđŒ 

(C)  ČĎĊĀĔ ČĊćđŒ ėČllÝ ĘČŪ  

(D) ČĎĊnđœ ėČll ąĒĉīđėü ČĊćĔÝ 

99. ‘íćĆĔn íĔŨĒņĘk āđĉĔllƧ’ en āċėŦđĉīĝ aœtąđkĔnļ enĝ? 

(A) íđĉtĒĀĀĔďćĒcĝ ôēČĒkûÝ  

(B) ŗíĒŗüĒąüřÝ Ćýđœt ĂĉÝ uĊČđkĔíĆĒĉī 

(C) íćŧđŔ āđŔ íĒŨƧÝ 

(D) àČčŖėpŨđėĉ ĉĄĒĘkŪüĔ ĉĄĒkĔíĆĔllƨ 

100. ‘ŗāđďđþÝ’ enüĒėn ďąđĀāþÝ èüđĻ? 

(A) ŗāďđþÝ (B) ąĔîŖąđĆ 

(C)  ąđĊĒí (D) ďĘnđĎÝ 

——————— 
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Space for Rough Work 
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Space for Rough Work 
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 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 

S\Lh| kOñW°tLeV j¤WOÐfV. 

 2. S\Lh| kOñW¾]R£  oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV 

A\ÿa]\ÿ]ŸOºV. 

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs 

Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU. 
 4. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV. 
 5. S\Lh| kOñW NWo jÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ CsæL¾ 

S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç  S\Lh| kOñWU oLã] vL°OW. 
 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\p]Åq]¨OU. D¾qRouOfLjOç AjOof] 

sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ. 
 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 

NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL, W}r]pSfL, 

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 

RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. 

CfV JãvOU NkiLjRÕŸfLeV. 

 8. CT S\Lh|SkÕr]Rs  1 oOf¤ 74 vRqpOç S\Lh|°¥  CUYæ}x]sOU KTSh|LY]W nLxp]sOU 

(ospLtU) Bp] A\ÿa]\ÿ]q]¨OÐO.  CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ 

yUwp°¥¨V CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV. 
 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢ÒV  KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 

D¾qU WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV. 
 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 

èÈLkP¡vÿU vLp]¨OW. 
 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 

wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 

wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]\ÿV 

WrOÕ]¨OW.  
 12. KLSqL wq]pO¾q¾]jOU KqO  oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU  oL¡¨V 1/3 

jìoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾  S\Lh|°¥¨V oL¡¨V jìoLvOW-p]sæ.  

 13. kq}ƒLyopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 

DSh|LYL¡À]pOU  kq}ƒLzL¥ v]-ŸV kOr¾OSkLWL¢ kLa]sæ.  
 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒ-p]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 

ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp]  NkX|Lk]¨OÐfLeV. 

BNbuGTG¡ÀWR¥¨Jç dW¡NÇq°¥ 
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